fx)=2x3-3x2+x-k 7t x-2E5 A5=2 7H o, k& Fotoi=h

D L
=%



2 - "1 1; — 75 O\
(
+
b
)(
a a ab
+
b
)(
3
b3
)
Al O
a ___i
Q.
e 2
A
1__(7

@®
a® +
bS
@
ab +
b6
3 4f
iy

@
a +
b9
®
a -
b9



k)

41 242 —2)2 4 3xy 4+ 5x+ 5y +3
S o, & dapa o] oz 22

®3x+3y_2 ®3x—y—4

@3x+y_2 ©3x_y+2

VAl



= A2 AeEoistd x - 3x%° + 4yt = (2% 4 axy + by?)(x* +
cxy +dy?) B W, a+b+c+d 2 g T2 (a,b, ¢, dE ST

B
= -



N

b

2~
M

2z = x+yis HEHH 9101 A p(x, y) ol A

7} 1A SH= A p

[¢}

o A3} ehhe 92

Z

o, (3-4i)z






7. om A% ol 5}l 5 [a]9F a- o & TO 2 SR oA
4 —Tx+k =0 W, &5 k9 H2N(H, [a] = a BTt 22 Y=
5] Aolet)

D1 @ 2 ® 3 @ 4 ® 5



a®l 3] WS ohu?

X% tax +19 2z} A y = 3x - 80] WhA|

@ -1<a<4



A7 1290 5 47F Ik, o] F 4-9] Fol

52 Fotofel,

D
=%



1
10. 2 +x+1=0% Eﬂ,xloo+x2+—2+—11 of g7
x x100

@1 @ -2 ® 0 @ -1 ® 2



Kl

AA 2xy = x%, 2xy =2 —yE &

ONIK| @ 174 @ 274

@ 371

® 471



ohe QYY) BE o] FL Fofedel,



H

o=
rr
o
o
lo
2L

A 2x + 5y = 842 WHES} g x, y o] off FollAl x €]

2 oigke 7ok

N

@ 36 @ 37 ® 38 @ 39 ® 40



14, 94 (08 (v-2) 2 1o 58 o(), Ue1AE ROl &
. T () 3x - 22 WAl el St AT

® Q9(x), R @ 30(x), R ® Q(x), 3R



15. obel 1@} 2ol & Wo| ol7} 2 &1 AI2HY ABCD 7t ik
BC,CD $1°] 217t 4 B,F & 4o} aABF 7} 3471 g0] Hes o
ul, BE ] Zolg Fatu?

D 4-2+3 @ 3-+3 ® 3-2v2



